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PART - A

This part shall contains 50 multiple choice/objective type questions, each
question carrying one mark [50 x 1 = 50]

1)

2)

3)

4)

S)

\
i
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Photochemical smog occurs in warm, dry and sunny climate. One of the
following is not amongst the components of photochemical smog, identify it.

(A) NO (B) O,
2 3
(©) SO, (D) Unsaturated hydrocarbon

Which of the following gases is not a green house gas?
(A) CO B) O,
(C) CH, (D) H,O vapour

Biochemical Oxygen Demand, (BOD) is a measure of organic material present
in water. BOD value less than 5 ppm indicates a water sample to be

(A) Rich indissolved oxygen.
(B) Poor in dissolved oxygen.
(C) Highly polluted,

(D) Not suitable for aquatic life

The acid which is not present in acid rain is
(A) Peroxyacetylnitrate (B) H,CO,
(C) HNO, (D) H,SO,

Which of the following statements is correct?

(A) Ozone hole is a hole formed in stratosphere from which ozone oozes
out.

(B) Ozone hole is a hole formed in the troposphere from which ozone oozes
out.

(C) Ozone hole is thinning of ozone layer of stratosphere at some places.

(D) Ozone hole means vanishing of ozone layer around the earth completely.




6)

7

8)

9)

10)

A volcano which is composed of lava flows and pyroclastic material and
which is steep-sided and very tall is known as:

(A) Syncline

(B) Composite cone
(C) Anticline

(D). None of these

In geological studies, a dome shaped intrusion is called a
(A) Volcanic neck

(B) Laccolith

(C) Nueeardente

(D) Caldera

Which of the following minerals is NOT a silicate?
(A) Orthoclase

(B) Muscovite

(C) Augite

(D) Magnetite

The name of a rapid rise of coastal water that accompanies the arrival of a
cyclone is called:

(A) Hurricane

(B) Storm surge
(C) Tidal wave
(D) Cyclonistat

Molten rock beneath the Earth's crust is called:
(A) Magma

(B) Liquicite

(C) Lava

(D) Igneous
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11)

12)

13)

14)

15)
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Environmental Biotechnology involves

(A) The use of microbes to clean up the environment

(B) Bioremediation

(C) The study of benefits and hazards associated with GMMS
(D) All of these

The use of living organism to degrade environmental pollutants is called
(A) Micro remediation

(B) Nano remediation

(C) Bioremediation

(D) All of these

Which of the following bacterium is called as the superbug that could clean
up oil spills

(A) Bacillus subtilis

(B) Pseudomonas putida

(C) Pseudomonas denitrificans

(D) Bacillus denitrificans

The process of extracting metal from ore bearing rock is called
(A) Bio extraction

(B) Microbial extraction

(C) Bio filtration

(D) Bio leaching

The process of converting environmental pollutants into harmless products
by naturally occurring microbes is called

(A) Exsitubioremediation
(B) Intrinsic bioremediation
(C) Extrinsic bioremediation
(D) None of these




16) Exsitu bioremediation involves the
(A) Degradation of pollutants by microbes directly

(B) Removal of pollutants and collection at a place to facilitate microbial
degradation

(C) Degradation of pollutants by genetically engineered microbes
(D) None of these

17) Which of the following microbe is widely used in the removal of industrial
wastes

(A) Trichoderma sp.

(B) Aspergillus niger
(C) Pseudomonas putida
(D) All of these

18) Microorganisms remove metals by
(A) Adsorption and complexation
(B) Adsorption and precipitation
(C) Adsorption and volatilization
(D) All of these

19) Chlorella sp. are widely used in the removal of
(A) Organic wastes
(B) Hydrocarbons
(C) Heavy metals
(D) All of these

20) A non directedphysico chemical interaction between heavy metal ions and
microbial surface is called

(A) Biotransformation
(B) Bioconversion
(C) Biosorption

(D) Biomining
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21)

22)

23)

24)

25)

What is the order of waste management hierarchy, from most to least favoured
(A) Prevention- Recycle-Reuse- Disposal

(B) Prevention-Reuse-Disposal-Recycle

(C) Prevention-Disposal -Reuse-Recycle

(D) Prevention-Reuse-Recycle-Disposal

How do you remove leachate from the landfill?
(A) By Gravity

(B) By pumping from low points

(C) Both(A)and (B)

(D) None of the above

Which of the following statement regarding recycling is wrong?
(A) Saves precious resources

(B) Require stable market

(C) Improves efficiency of treatment processes

(D) Increases the needs for mining virgin materials

What is the most expensive component of solid waste handling?
(A) Collection

(B) Storage

(C) Treatment

(D) Separation

What is the process flow in a integrated solid waste management system?

(A) Generation-Source separation- facility separation-collection- Transfer and
transport-Landfill

(B) Generation-Source separation-collection- Transfer and transport -facil-
ity separation-Landfill

(C) Generation-Source separation-collection-facility separation-Transfer and
transport-Landfill

(D) Generation-Source separation-collection- Landfill -facility separation
Transfer and transport
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26) Ergonomic hazards are caused by
(A) Poorly designed tools
(B) Machinery
(C) Chemicals
(D) Electricity

27) Hazards due to agricultural machinery are
(A) Electrical
(B) Mechanical
(C) Chemical
(D) None of these

28) Common symptoms of pesticide poisoning are:
(A) Headache
(B) Vomiting and nausea
(C) Difficulty in respiration
(D) All of the above

29) To prevent hazards at workplace, the following material should be put in
place:

(A) SDS

(B) Firstaid kit

(C) Protective clothing
(D) All of the above

30) Protective and safety equipment comprise:
(A) Gas mask
(B) Gloves
(C) BothAand B
(D) None of the above
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31)

32)

33)

34)

35)

36)

An ecosystem must have continuous external source of
(A) Minerals (B) Energy
(C) Food (D) All of the above

Species that occur in different geographical regions separated by special barrier
are:

(A) Allopatric (B) Sympatric
(C) Sibling (D) None of the above

A population is a group of

(A) Individuals in a species

(B) Species in a community

(C) Communities in an ecosystem
(D) Individuals in a family

The carrying capacity of a population is determined by its
(A) Population growth rate

(B) Natality

(C) Mortality

(D) Limiting resources

Algal bloom results in
(A) Global warming
(B) Salination

(C) Eutrophication

(D) Biomagnification

Remote sensing techniques make use of the properties of emitted,
reflected or diffracted by the sensed objects:

(A) Electric waves

(B) Sound waves

(C) Electromagnetic waves
(D) Wind waves
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37) The National Disaster Management Authority (NDMA) is headed by
(A) Prime Minister of India
(B) President of India
(C) Governor of States
(D) Chief Minister of States

38) Volcanoes are generally found where
(A) Intraplates pull apart or are coming together
(B) Tectonic plates pull apart or are coming together
(C) Earth's crust pull apart or are coming together
(D) None of these pull apart or are coming together

39) Cyclones occurring in North Atlantic ocean are called
(A) Typhoon (B) Hurricanes
(C) Tornado (D) None of the above

40) Disaster Management includes:
(A) Mitigation (B) Reconstruction
(C) Rehabilitation (D) All of the above

41) A species restricted to a given area is
(A) Endemic species (B) Allopatric species
(C) Sympatric species (D) Sibling species

42) Anexample of ex-situ conservation is
(A) Seed bank (B) Sacred groves
(C) National parks (D) Wildlife Sanctuary

43) Conservation of species in its natural habitat is
(A) In-situ (B) Ex-situ
(C) In-vitro (D) Both (B) and (C)
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44)

45)

46)

47)

48)

49)

50)

Biodiversity Hot spots are regions of high
(A) Rarity (B) Endemism
(C) Critically endangered population (D) Diversity

Sacred grooves are
(A) Community protected forest (B) Naturally protected forest
(C) Tourism spots (D) Boundary of Protected areas

The Environmental (Protection) Act was enacted in the year:
(A) 1986 (B) 1992
(C) 1984 (D) 1974

The power to declare an area as a sanctuary or national park of central Gov-
ernment is Wildlife (Protection) Act is under:

(A) Section 38 (B) Section 39

(C) Section 18 (D) Section 27

The Water (Prevention and Control of Pollution) Act was enacted in the year:
(A) 1986 (B) 1974

(C) 19%4 (D) 1975

EIA is necessary because?

(A) Development is bad for the environment

(B) There is growing interest in sustainability

(C) Environmental impacts of developments are of public interest
(D) None of the above

The primary reason for Environmental Impact Assessment is to

(A) Mitigate existing environmental impacts of development

(B) Predict the size of impacts of developments

(C) Describe proposed developments

(D) Identify the environmental consequences of development in advance
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PART - B

This part shall contains five questions, each question carrying ten marks.

[5S x 10 = 50|

1.  Write a note on effects of heavy metal pollution on biota.

2

Describe microbes as bio indicators of pollution.

3. Explain the management of hazardous wastes.

4.  Explain the application of GIS in environmental Monitoring.

5. Describe the various causes for depletion of biodiversity in India.
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